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Question 1- The annual income of P, Q and R are in ratio 1:3:6 and

there annual income of P and Q 1s 12,0000. Find the monthly income

of R.
T 1- P, Q 3R R I aTiNeh ST 31 SFATT 1:3:6 8 3P 3R Q

JTNeh 3T 12,000 gl R T AT 3T J1d hifsr|

A.Rs 12,00
B.Rs 14,00
30 —€Rs 15,00
D.Rs 20,00
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Question 2- 20 years ago ratio between the age of A and B was 2:3. Ten
year hence this ratio becomes 3:4. Find the present age of B.

T 2- 20 I8 UBA A FR B Al HTY o i< 3BT STUTG 2:3 UT| GH 1A 1S I8
AT 3: 4 B ST &1 B o6l SaT 71T 1 shitori|

A. 100 years

vB./l 10 years

C. 90 years
D. 120 years

30
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Question 3- The ratio between the age of P and Q 10 years ago was 2:3.

After 10 years this ratio becomes 5:7. Find the sum of there present age.
TF3- 1099 Y8 P 3R Q Al I oh sf=l T SUTT 2:3 &1l 10 I o o1a
g TG 5: 7 Bl SITC =1 T SR 3hT 1T 1 hitSTT)

A. 100 years
B. 1 10 years

® -i%@ years
D.90 years
30
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Question 4- The income of A and B are 1n ratio 3:2 and there expenditure

are 1n ratio 5:3. If saving of each person is Rs 4,000 then find income of

A. :
5 5.3

T4 4- A 3R B shl 3T 1 S{ITT &3 & I oI hl U &3 2 I I

feh shl s=d 4,000 TIA B, T A shl 3T/ JTd it |

MQ)(W) T
Ex m&ﬁr : Ja= Hoexa A48 X [Roa0
L s
g 0 ¥ ~
(- Li D.54
' | https://t.me/mathbytarunsirmepl
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> 0C Quest12n5 Fgld the mean proportion of 4 and 16.
2 aC T4 5- 4 AR 16 T HILT AT 1 shifsy|
b=
—Tlean Dyopartion
( 3 / OW 2 JHX 6
il i
e bl
2 A.6
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C.8
30

D.16
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Question 6- Find the third proportional of 36 and 12.

T 6- 36 HIX 12 3l dEU STHATIA F1d shifsra|

AR

C.6
D.8
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Question 7- A bag contains 50 paise, 10 paise and Rs 1 coins are 1n ratio

20:30:9. If the total values of these coins are Rs 440 then find 10 paise

e —

CcoOIns.

Teh ST H 50 U9, 10 99 37T 1 94 |Horoh 20:30:9 % I H & AfE 3
TErehl T et T 440 T9 &, 1 10 ﬁﬁ%ﬁa&%aﬁ‘mﬁﬁml

( S0P lop | A.400
om(lﬁwjﬁo 30 g B. 500
m . . €600
S| 5=10 1 387~ q 1522=3 44 bii

L“? 530 3} \\3\%6

N
P \%2)(030 https://t.me/mathbytarunsirmepl



=) UP QIcTA BRI 202343

https://t.me/mathbytarunsirmepl



=)UP UfcIA IRt 20234

Question 8- Find the fourth proportional to 4, 9 and 12
9 8- 4, 9 S 12 T =AT SATATIAR T hilSTa

Hxa= 9xR3

I= ki
S SR DT
B. 20
C.24
D.36
30
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Question 9- A, B and C received an amount of Rs 8400 and distributed among

themselves 1n the ratio©f 6 : 8 : 7 tespectively. If they save in the ratioof 3 : 2 :
4 respectively and B saves Rs 400, then what is the ratio of the expenditures of

A, B and C respectively.

T4 9- A, B 3 C h{ §400)%T <Al TRT ITH B R I8 SHAL: 6: 8: 7 o AU H
AT H fereie Toham 7T i & ShAST: 3 : 2 @ 4 3 STUTA H ST<id hid & A B 400
Fq A1 8, 1 ShHST: A, B 371 C o 3 31 ST 1 82 T

B.7:6:3
C914:10
D.12:11:10

30
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o Question 10- The students in three class P, Q and R are in ratio 10:12:15. If
%*Q@ 0 they are increased by 20%, 75% and 40% respectively. Find the ratio of

students now.
A T 10- 19 & P, Q ST R 3 S o1 AU 10:12:15 81 Al 37 SHAT: 20%,
75% I 40% & ST ST 2 ?ﬂaﬁaﬁﬁﬁﬁohl S ERIRIGEEIS Y

P N R Rode - | /{a 3% Yo 2T
Q0 el EQ '/Lf-:f, B.3:7:7
j\?@y ‘[ 3 e \ C4:7:7
0 D.5:6:7
120 - %(Sb
}r =20 L 3
| https://t.me/mathbytarunsirmepl
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Questlon 11- 45% of a number is equal to the 25% of 20% of another

number. 7?@740 @/ D -

T 11- Teh WA % 45% TELE TEAT 6 20% % 25% o S 81 9T ] =P

HSX#I Qoxgszg of&t

A.2:9

ﬂ ng %X 5}1 B. 3:7
2 —71:9
J D.4:9

j’
9y
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Question 12- In a town ratio of male, female and children 1s 20:7:8. If
number of children 1s increased by 20% then number of children now
becomes 1920. Find the total population of town.

T 12- Teh WL H GE, Hicell S =i o1 S91d 20:7:8 2| Ffs S| sht g §
20% T Jfg 3T ST & Al Soell Al SEAT 3T 1920 BT ST 2| S T Fel

STEEAT JTd ShiTSTq| A. 1000
B. 2000

tlome wak s

D. 7000
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